¢ Aesg
LETE PRIRE AR A
ES 60
K 7 3-_2 () -?2 00~02 Q0 H# (38)
&-@/ » 02704 0
&‘ﬁf 0 38 0005 0
29 3230 g 06~08 mmm 1
@%ﬂé A ST T Ty 2828 M o1 6
. S g 2 10712
%ﬁ;ﬁﬁiﬂ;&(ﬁﬁﬁ&éﬁﬂﬁ » 26 IQ 26 3 21 Eﬁfﬁlrm _35
LT i - 0 14 2414716 —1
SiE | &8 | &t RS ——R6 # 16~18 5
RO 30 0 1 34]...35 ’ =) 18720 I 5
3|REE 32 0 o 3737 1 2 3 45 6 7 8 9 10 11 12 20~22 4
g E'jfﬁtt _2 iO +1 _3 _2 22~24
| e e e | BTERMEEARREM 0
RoE%Z 82 O 3 89 92 38 Rl E&ﬁﬂ“ﬁiﬁ& il
e 1o I ard I )=o) N =71 I = I I = Emﬁ’:g‘lﬁfﬁg £ — O e Pl B
ot [BIEEE ol =8l ol 1l 20l | |meuk| 37.0%| 320%| [EETE 6 5 = = 6l 5 T
IBEER|  +6.5%] -1000%| +500%| -1.1%| +00%| | = E?f;: +§ 7| Iegies 8112 ] o) — 43
=Sl Wi 13] [BR2Si 2. 5 P 3 6 £
— BYRRIREMHERT—R 8 5 [ Bk | 100%| 16.0%| [xes T 2| |=m|& 1 | 7[15 A Eé 2t
e 4 =leaw| 5| *o| [BR{S o o |FEE sl 26| |o| T oS
e 3 - % 1 2| |ABEmE 0O O smeksil Ol 11 |g ZE= | 2| 6
q;@ 2 - || 43%| 19%| [EELE 0 1 —9”7“1%“53 WA s s[=wm| 1] 3
~ Al
g I 0t :Ji\—: X . = HEQA*DBHIHI O 0 ig B s E @l 0l O *#s | O] 1
" 17| B 34.8%| 288% BIMZDmm| O ==
Pt pE R U B E SN BUEFLE] N |gtrenmaEm| 0 O Bl o5 311 |elForlos
‘ g9 gogEgwo sl | 1] 24| [eire-mim| o o] | 4 [EEGD 1] 2] |zl B8 E=] 2| 3
s o | @K | 26.1%| 250%| [—BhaE 11 43 e |5EBIP 1] 4 B 2| 3
SXSTERE
8.5 a6 YEETY
T, 2 « BEN. L%@%F‘ﬁﬂ@?@5¢m8ﬁ%b‘b¢m 1OH§®F‘3I£§ZL$E§U§ ZHRERELUTCNZET,
2 RBI—-IVETD, BE2ICBREEZ LI L& D,
, Br--mrg=mmmm
& 6 A ngggﬁgﬁ L | ] SHEE 3 AHT




